Apex Enclosure COMPULNCKS

Assembly Instructions

1

FOLLOW STAND
MOUNTING INSTRUCTIONS
(SUPPLIED WITH STANDS)

WALL MOUNTING
(SCREWS NOT PROVIDED)

2

ROTATE 90°

:

/

PRESS TO LOCK

IN THE BOX

e

Apex Enclosure Keys

z ]

©Compulocks Brands Inc. All Rights Reserved www.compulocks.com | online@maclocks.com | +1800-948-0344 Sheet 10f 1



Swell Enclosure

Assembly Instructions G 0 M PU I-r] G KS

1

Or

FOLLOW STAND
MOUNTING INSTRUCTIONS
(SUPPLIED WITH STANDS)

T o * ‘ll
. |/- ~\\'_D;;T\\\
/L/ “”"ﬁ WALL MOUNTING
(SC

REWS NOT PROVIDED)

—

Arv"e °
B
.,‘70 o
SECURE WITH
M3 SCREWS (PROVIDED) L/ L/
IN THE BOX
o) Bl =

s

Torx Screwdriver

M3x10mm tamper proof screws
©Compulocks Brands Inc. All Rights Reserved

Swell enclosure
www.compulocks.com | online@maclocks.com | +1800-948-0344 Sheet 10f 1



Space — compulocks

Assembly Instructions

| | : or e

FOLLOW STAND WaALL MOUNTING SCREWS

MOUNTING INSTRUCTIONS

NOT PROVIDED

Press to lock

|

——

—

ECompulocks Brands Inc. All Rights Reserved, www.compulocks.com | online@maclocks.com | +1 B0D-948-0344 Sheet 1 of 1



Swing Arm s sozs
Assembly Instructions

& compulecks
LOVEIT LOCK IT

Wall Mounting - Wood Stud

*L‘R"“ S 275"
i 69.85mm
¥
DRILL 2 Holes fﬂ""
@157 X 21/2" DEEP »t
M4 X 63.5mm DEEP
CENTERED ON STUD ’r/’//__ﬂf—;u

Wood Stud Istallation

INSTALL SCREWS PROVIDED
#14 X 21/2” PHILIPS PAN HEAD
SHEETMETAL SCREW, 2 PLACES

Hinge Adjustment
f__S}FiiTL—:}

STEP1
ADJUST LARGE HINGE SCREW
TO DESIRED TENSION OF ARM
" WITH WRENCH PROVIDED

STEP 2
AFTER CORRECT TENSION IS ACHIEVED
TIGHTEN SET SCREW
WITH WRENCH PROVIDED
DO NOT OVER TIGHTEN

©Compulocks Brands Inc. All Rights Reserved. www.compulocks.com | online@

STEP1
ADJUST LARGE HINGE SCREW
TO DESIRED TENSION OF ARM
WITH WRENCH PROVIDED

STEP 2
AFTER CORRECT TENSION IS ACHIEVED
TIGHTEN SET SCREW
WITH WRENCH PROVIDED
DO NOT OVER TIGHTEN

maclocks.com | +1 800-948-0344 Sheet1of 2



Swing Arm s e & compulecks

Assembly Instructions LOVE ITLOCK IT

Tilt Adjustment Enclosure Installation

~ S —
ADJUST TILT TENSION SCREW ____::A_bd___—_:__a—_——*_f
TO DESIRED TENSION —
WITH WRENCH PROVIDED

USE M4 X 8mm SCREWS PROVIDED
TO INSTALL ENCLOSURE

Installation Complete Monitor Mounting
IF MOUNTING A MONITOR
REMOVE M4 PRESS IN NUTS

HARDWARE FOR MOUNTING THE MONITOR
ISNOTINCLUDED

©Compulocks Brands Inc. All Rights Reserved. www.compulocks.com | online@maclocks.com | +1 800-948-0344 Sheet 2 of 2



